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Work all the problems.  Then take one answer at a time---the hundred’s digit tells which    
 horizontal number in the grid to use; the ten’s digit tells which vertical number to use.   
 Where the designated row and column intersect, fill in the square with the given color. 
 

yellow      brown    brown               yellow              brown               yellow            brown    

 16     104       81        68        118          37         94  
 x 3 x 9 x 7 x 5 x 8 x 7 x 8

brown          yellow       yellow    brown              brown           brown       brown   yellow 

218  38  74  95 217  79  53  65 
x 3 x 4 x 6 x 9 x 4 x 8 x 9 x 4

brown      brown    yellow   yellow              brown              yellow            brown    

 72 384 89 49 319 24 96
x 9 x 2 x 4 x 5 x 3 x 6 x 6
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